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B.A. Il Semester Degree Examination, May/June 2014

Time : 3 Hours

ARABIC (Basic)

Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) Answers should be written in Arabic, English or Urdu.

|. Choose the correct answer :
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Il. Write the Summary of any two of the following : (2x10=20)
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IV. Translate and Explain any four of the following : (4x5=20)
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V. Define and illustrate any two of the following : (2x5=10)
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B.Sc. Il Semester Degree Examination, May 2014
ARABIC (Basic)
Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) Answers should be written in Arabic, English or Urdu.

I. Choose the correct answer : (10x1=10)
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Il. Write the Summary of any two of the following :
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IV. Translate and Explain any four of the following :
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V. Define and illustrate any two of the following :

(2x1 0=20)
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